HASCO

Z877/...
Mat.: 2.0401
S
N P Info
7 812/. ) %‘Ls 18| 701/
~ DN 3863 1
(
SW l1 | do ds Typ d Nr./No.
22 9 35 9 M16x1,5 13 M16x1,5 Z877/13/16x1,5
30 16 62 13 M24x1,5 19 M24x1,5 19/24x1,5
Z878/...
Mat.: 2.0401
N1
1
ACEE
hy P Info
N3
D m )
= N )
S\ N Yo
-
» g 4 / =

S
\[ ‘V\ijir d2
[ 290/
ds g_,
S r h1 hg h3 h4 b1 |1 |2 |3 d3 dg d4 d1 Nr./No.
5 7 14 25 |16 1 14 25 |18 85| 45| M10x1 9 | M10x1 7878/ 9/10x1

G1/8 G1/8A 9/R1/8
6 | 95| 19 | 32 |22 19 | 36 | 26,612 6 G1/4 13 | G1/4A 13/R1/4

10 |15 30 | 47 3T‘iﬁi_§i_§ﬁ__iﬁ1 G 1 "1 ﬁVZA 19/R1/2
www.adultpdf.com

5.21



